I X| S 11
L 137-140 ASAN AZF BHH=22 131(RH = 15)/ &3 (02) 3462-7213 ~4/ & & (02) 3462-7210
Hel8AM: EEMEBAEN=221E), WE: t#Q.I/ﬁ. getr LEsS
SEMYS: EEINESAIE -
AL A 2014.11.14
= Al
& x:
Ml S B AIEEEA 34
ANl g 44 & A
= A H: AME2A= Y 1 2014.11.14
ANEHS: Al-154 (NO. ) AI2ZMHAEA: J|=MAXL : Q5+
NBES: Z(RIIZ) ALECH A2 124(100H) AlE R UES
MNEE=2: 2014.11.10 Al 2 7 2 1 190%90*11Tmm
ANEE S | 1 2 3 4 5 6 7.0 8.0 9.0 10.0 Hl 0
2 0| 190.0 {190.8 [189.7 [190.5 1190.4 [190.3 |189.8 |189.6 |190.0 |189.7
NES LId| mm 89.4 | 89.8 | 895 |89.8 | 89.7 /896 |89.4 |89.3 895 894
=] 10.9 | 11.0 | 11.1 [ 11.0 | 111 [ 111 | 111 | 11.1 [ 11.1 [ 11.0
=2 - - - - - - - - - -
FEE =5 mm 0.3 0.4 0.2 0.3 0.2 0.3 0.1 0.3 0.4 0.1
g 0.1 0.1 0.1 0.0 0.1 0.1 0.0 0.1 0.1 0.1
AR C 0.2 0.0 0.1 0.1 0.0 0.1 0.3 0.1 0.2 0.1
X'TE = mm
(31:21%H, OfeH: &S ) 0.2 0.2 0.4 0.2 0.1 0.3 0.4 0.2 0.2 0.3
g + 8 % - - - 101 |02 |02 | - - - -
e - - - - — — — OlMgiS|0laSiS|0laelS —
LHOI2 A o] - - - - - - 0.02 | 0.01 | 0.01 -
HAAE | N/em | 415 | 410 | 343 | - - - - - - -
TECE - - - -] - - - -1 -1 -1-
LH &b - - - - - - - |oxeis|oMgts|oaas -
Lhor=
Wezelg|l - - - - - - - |oxgis|olagis|oas -
¥ OAIEEE CKS L 1001:2013
_ el X2 SHEXH(Mm) Fsg
%’é‘]l—i— MEO’% 21% = (N/Cm) g8l 201 ¥ Lidl _‘,:_))“ EE 95 %__1[9_:1
(KSL |u=ere vaens WE 12014t |mmsooist KSL |U=+0.7 KSL 10010l E501 CH2C}
;8?(1)) QI HEIY | X ADE JJ,;; 155015t | 800|&F |<&5.0015 1%%51' QE+15
HretErQ! |1 a 12| S| 1ssxm | 100014 [szis00s| [F2C) |Hict+1 5
% 982 AN HBE AB AE 22,
(A =&tat M2 0 1kgf = 9.8N)
S E H I X| A AKX
A‘lEﬁ E}\l EEAl%"_I_c!'

1 HIOIXIZS 1 HIOIX]




B Al NI E

Al & ¥ 5 Al-154 M 2 o :2014.11.10
~ 2 - 174 (100H) et 2 o :2014.11.14
A2 5 F 0 2EHAPIE) Al " X e S
Al 2 7 Z : 190%90*11mm x|z} L= 180 7lslxt - 2351H
_ NESE= x| = —
A % (mm) Helzs E48(%) g5 2 (mm) "'T(jﬂf Lotz A
NET ETRY ERT = 7 sz | 25 |zasid[azed|seg [HogdHoled o e = = EEE T el ara |22
L o
Mo | @ | hoh | wa | hoh | mE | N | Wem)| (@ | (@ | (%) EIEEIEEIEEI R EEY ks
190.05 89.50 1?'22 0.33 0.17 12222 0.20
1 189.95 80.41 | | "o | 10.04 | 1854 | 41474 | = = = = - | o000 0.35 0.07 | oo = = =
189.85 89.31 : 0.36 -0.04 91 019
10.89 = 89.31
190.80 89.74 H'gg 0.38 0.02 138'22 0.03
2 190.82 80.85 | 00 | 11.05 | 1842 | 410,04 | = = = = - | 0.00 0.36 0.00 | = = =
190.83 89.95 : 0.34 0.16 0,21
11.02 = 89.95
189.63 89.25 ng 0.14 ~0.01 1:252 0.11
3 189.69 80.45 | .o | 1113 | 1533 | 34276 | = = = = - | 0.00 0.18 0.07 | e = = =
189.74 89.65 : 0.22 0.15 221 0.40
11.08 = 89.65
190.47 89.75 11.06 0.24 ~0.01 190471 42
11.01 190.59
4 190.53 80.85 | 0o | 11.04 — | 203.00| 402.6 |0.0994] - - | 0.00 0.30 0.04 | 0 = = =
190.59 89.94 : 0.36 0.08 21 019
10.99 = 89.94
190.45 89.62 .14 0.14 0.12 19045\ 02
11.12 190.43
5 190.44 80.70 | .o | 1113 — | 0050 399.7 |0.2002] - - | 0.00 0.18 0.08 | = = =
190.43 89.77 : 0.22 0.03 21 015
11.09 = 89.77
190.30 89.46 HJJZ 0.27 0.02 128'22 0.08
6 190.34 8o.61 | '/ | 11.10 — | 395.40| 394.6 |0.2027| - - | 0.00 0.33 0.07 | = = =
190.38 89.76 : 0.38 0.12 451 030
11.06 = 89.76
189.62 89.21 H'gi BYAE 0.10 -0.12 1:2'23 0.28
7 189.76 80.39 | .0 | 11.05 = = = - loiatgtel 4744 - | 0.00 0.15 0.05 | 0 - lolatgtelolatets
189.90 89.57 : 0.19 0.03 <11 036
11.04 0.02 89.57
189.67 89.25 H'gg 45.43 0.24 -0.10 1:2'2; 0.07
8 189.64 80.35 | oo | 11.08 = = = - loiatgtel 4421 - | 0.00 0.27 010 | - lolatgtelolatets
189.60 89.44 : 0.29 ~0.09 21 019
1111 0.01 89.44
189.95 89.40 H'gz 47,12 0.36 0.01 123?2 0.18
9 190.04 89.52 11-06 11.05 - - - - |ojatglg 47.11 - 0.00 0.36 0.07 89 ‘40 - |olatetSolatel S
190.13 89.63 : 0.36 0.12 491 023
11.02 0.01 89.63
189.76 89.60 ]g'gg 0.10 -0.10 lgg'ég 0.09
10 189.72 80.44 | | o0 | 10.08 = = = = = - | 0.00 0.15 0.08 | = = =
189.67 89.27 : 0.19 ~0.06 91 033
10.94 = 89.27




